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Instructions

· The time for the test is 1 hour.

· Answer all questions. 

· [image: image19.jpg]


Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.
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1
Last year a particular make and model of car cost £14 500.


This year the same make and model costs £15 370.


Work out the percentage increase.

........................................

(3 marks)

	X
	10
	35
	Q

	Y
	18
	P
	9.9
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2
Two variables, X and Y, are in direct proportion.


The table shows corresponding values of X and Y. 

a
Work out the values of P and Q.

P = ........................................

Q = ........................................

(2 marks)


b
Write a formula for Y in terms of X.

........................................

(1 mark)

3
The back-to-back stem and leaf diagram shows the times of runners from two clubs for a
10-kilometre race.
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Compare the times of the runners from the two clubs.

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(4 marks)

4
The table shows the profit (in millions of pounds) of a car dealership over the past 7 years. 


The profit for 2011 is not known.
	Year
	2008
	2009
	2010
	2011
	2012
	2013
	2014

	Profit
	18
	20
	24
	?
	40
	51
	64



a
On the grid, draw a time series graph for this data.
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(2 marks)

b
Describe the overall trend.

....................................................................................................................................................................

....................................................................................................................................................................

(1 mark)


c
Estimate what the profit might have been in 2011.

........................................

(1 mark)


d
Predict what the profit might be in 2015.

........................................

(1 mark)

5
AB is parallel to CD. 


[image: image3.png]/<2y —40°
B

66°

Not drawn accurately





Work out the value of x.

x = ........................................°
(5 marks)

6
PQ, QR and RS are three sides of a regular 18-sided polygon.


PQ and SR are extended to meet at T.
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Work out the size of angle PTS, marked x on the diagram.

x = ........................................°
(3 marks)

7
Two schools, Avon and Thames, enter 40 students each into a maths challenge.


The students have to solve a puzzle and they are timed to see how long each student takes.


This is the frequency polygon showing the distribution of times taken for the 40 Avon students.
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a
Which time interval contains the median time for the Avon students?

........................................

(1 mark)


b
The frequency table shows the distribution of times for the 40 Thames students.

	Time (minutes)
	Frequency

	0 < t 
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  5
	1

	5 < t 
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 10
	6

	10 < t 
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 15
	15

	15 < t 
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 20
	9

	20 < t 
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 25
	7

	25 < t 
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 30
	2




On the grid above, plot a frequency polygon for the times for the Thames students.

(2 marks)


c
Compare the results for the two schools.



Which school performed better? Justify your answer.

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(3 marks)
8
Here are two mixed numbers. 
M = 
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Show which of these calculations gives the larger answer.


M + N 
or 
M × N 

........................................

(4 marks)

9
Chris, Dave and Ed share £720 between them.


Chris receives £90 more than Dave.


The ratio of Chris’s share to Dave’s share is 7 : 5.


Work out the ratio of Ed’s share to Dave’s share.


Give your answer in its simplest form.

........................................

(5 marks)

10
Work out the length marked w.
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w = ........................................ cm
(5 marks)
11
ABC is a right-angled triangle.

AB = 5.4 cm and angle ACB = 62°


Calculate the length of BC.


Give your answer correct to 2 significant figures. 

........................................ cm
(4 marks)

12
The population of a city is 218 720.


The population has been increasing at the rate of 2% per year.


What was the population 3 years ago?

........................................

(3 marks)
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